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Answer the following questions.

1. Guess (OO 0O0O) which Japanese words correspond to
"inertia’”, " qualitative”,” quantitative”, " displacement”,
»constant of proportionality” and assumption”.

Do not use a dictionary.

2. How do you call the third law of motion in Japanese?

3. Write down the equation of motion of a particle in a uniform
gravitational field.

4. Make a sentence by using “A is proportional to B”.
5. Make a sentence by using ‘define A as B”.

6. Put the second paragraph into Japanese.
O0000000000000000



1. inertia: OO , qualitattive: O OOO , quantitative: 04 QoQg |
displacement: OO , constant of proportionality: OO OO
assumption: OO

2. Joggooooot

3. Let m, rand g be the mass of the particle, the position of the particle

and the constgnt of gravity, respectively. Then the equation of motion
d fnd

IS given as m# = ge, where the direction of the gravity force is taken

along the z-axis.
4. The Kkinetice energy is proportional to the square of the velocity.

5. We define sinz as (e'® — ™) /2,
We deinfe the momentum as the product of mass and velocity.



o.0000

oo tddbootdobodootdbootdoddoodountn
oot gdootdbobogtdboododootdoottn
Jubogtdobotdbootdbotdguontdbootdbbotdbotbbotddn
O00D0000000¢v=dr/dt00000000000000000O0
oottt doddn
Jugdootdodoodootdboodooddoodboodottn
O0D00D000a=dv/dt0000000O00O000O0O0O00O0O0O0O0O0O0OO
Jobootddbobobotgdubood



( 11/1)

4 (We are using . . . himself.)
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